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 0402 0,04×0,02    COG  

�������
�
��  B ±0,10�	
  S �	�	���  

�������� 
������	��
, 

   

 0603 0,06×0,03    
CG 

NPO  10210×102  C ±��
�	
   160 16×100   

�	� 
����! "���!��� 

 0805 0,08×0,05       10310×103  D ±�����	
  
N ���	�� 

����	�  250 25×100    

 1206 0,12×0,06          J ±5%     500 50×100   
T #	��!����

����$��%� 

   1210 0,12×0,10          K ±10%     630 63×100   B  �������	 

   1812 0,18×0,12          M ±20%     101 10×101     

   2225 0,22×0,25                   

   3035 0,30×0,35                
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B = ±���	
 � 
 C = ±��
�	
  
  D = ±���	
 

 J = ±5,0%; K = ±10%;   
!�"�±20% 

#���$�%������	��B,C,D  &�%�C�'���	
 
(������� 

��)�������	�%*�����

�	���+����� 
16, 25, 50, 63, 100 

��������DF) 
,�≥��	
-�DF < 0,15% 

C < 50 	
: DF ≤ 15(150/C + 7)×10-4 

,≤����	
-���!./�± 10% 
0������&�����1���� 

,2����	
-���34/�± 10% 
1,0 ±���
�1���� 

,�	����$������

����%/�� 
(IR) 

C�'�����
-�R > 1000M��  
 C > 10�
: R×C > 1000 S 

�����$�����	�%*����-����&��	������

��������$��1���%����%&�-��������

���	����5��-��6-25°,��1��*�����-�

<80% 

3�����$�������� 
	�����	�%*���� 

(��&��*���)������������	�$��*&�����

�����������%�&����������%������� 
�$���������$��4����	�����%�� 

(�	�%*�����$�
��������)���7��

����������4��$��������������5�& 
8��%&��-����%&������������������9 

6�:�	�$�������������������&��*���

)����	���������$���	��	���+�(��

&��*���)���������������;��+� 
��	 NPO (COG) 

���	����5�� 265±5°C 
$���% 5±1c 

��$����������: ≥75% 

#���$�%�	���� 
 

∆,<, ≤5% 

3��&���������	�������=�

	�4�5*�=��%�$����	��$����5=�

������������
����5�&���������

	�4�5*�=��%����
>�����5�&��$�

���	��$�������	��	�����

���	����5����
?�±5°C.  

��	 NPO (COG) 
∆,<, ≤2% 
DF 0,003 
IR R × C > 25S 

1��4���������� 

(�������	�$��*&�����$���������

��	�����% 

�"@�±20°C 
0�����������%�$��*�����-�A?�>
:�-3% 

1���%�$�������$����%��-
����� 

��B������� ∆,<, ��B������� ���	����5�� ���	����5�����

��B���/������������ NPO (COG) ±30*10-6/°C NPO (COG) +20°C�&��>�
�°C   

1�)��/�% 
(�������	�$��*&�����$���������

��	�����% 

C�������$�)��/�����-����./ 
���	�����$�)��/�����D���<�

2 
1�?���	��$����%�-�
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L W ME
25 1R0 ~ 471
50 1R0 ~ 221
25 0R5 ~ 102
50 0R5 ~ 821

100 0R5 ~ 561
0.3
0.2

50 0R5 ~ 222
0.3
0.2
0.3
0.2
0

0.2

0.3
0.2
0

0.2

25 102 ~ 153
50 102 ~ 103

100 102 ~ 103
25 151 ~ 681
50 102 ~ 223

100 102 ~ 103
25 102 ~ 104
50 102 ~ 473

100 102 ~ 333
1.00 + 0.25

&���	��	�	������
�

��

3035 7.60 + 0.50 9.00 + 0.50 3.0

1.00 + 0.25

2225 5.70 ± 0.50 6.40 ± 0.50 2.0 1.00 + 0.25

1812 4.50 + 0.40 3.20 + 0.30 2.0

25 561 ~ 103
1.0 +

50 561 ~ 682
1.25 +

100 561 ~ 472

1210 3.20 + 0.30 2.50 + 0.30 0.70 + 0.25

25 0R5 ~ 472
1.0 +

50 0R5 ~ 392
1.25 +

100 0R5 ~ 152

1206 3.20 + 0.30 1.60 + 0.20 0.5 + 0.25

0.5 + 0.25

25 0R5 ~ 332

1.25 + 0.15

1.0 + 100 0R5 ~ 102

0805 2.00 + 0.20 1.25 + 0.20

0.7 +

0.1 + 0.05

0603 1.6 + 0.1 0.8 + 0.10 0.8 + 0.1 0.3 + 0.1

0402 1,0 + 0,07 0.5 + 0.05 0,5 + 0,05
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